
 

Introduction to Statistics  

Test 1 (A) 

Student: ________________________________________ 

Group: _________   Date: ______________ 

 

 

 

PROBLEM 1. (1 point) The graph below is taken from The Statistics of Democide, by R.J. Rummell. 

 

 

Mark the correct response: 

 

a) The correlation between Total Power and War Dead is positive and close to 1. 
b) The correlation is exactly zero. 
c) The correlation is negative. 
d) The correlation is positive but close to zero. 

 

Response 

a) b) c) d) 

 

  



 

PROBLEM 2. (1 point) The table below comes from a recent survey of 1011 people (12th – 17th February 2015 carried 
out by Survation for the Scottish Daily Record) on Scottish attitudes to independence after the referendum last year. 
 
Responses to the question are classified for different gender and age groups and for parties voted for in the last 
Scottish (Holyrood) and UK (Westminster) elections. 

 
 
Considering the weighted totals, what proportion (2 decimal places) of the survey respondents said they voted for the 
Conservative (CON) party in the 2011 Holyrood elections? 

(Note: some respondents to the survey did not vote or voted for a minor party in these elections). 

a) 94.0% 
b) 9.30% 
c) 14.05% 
d) 100.00% 

 

Response 

a) b) c) d) 

 

 

PROBLEM 3. (1 point)  Following on from the previous question, what is the proportion of the people who said that 
there should never be another referendum on Scottish independence that voted for the Conservative party in the 2011 
Holyrood elections? 
 

a) 18.78% 
b) 29.63% 
c) 42.00% 
d) 21.10% 

 

Response 

a) b) c) d) 

 

 



 

PROBLEM 4. (1 point) The following table taken from a 2012 survey by the Pew Research Center reflects the 

confidence in world leaders expressed by citizens of various different countries. 

 

 
 

Mark the correct response: 

 

a) The median rating for Obama is 73 and the range of the ratings for Merkel is 70. 
b) The median rating for Obama is 61 and the second quartile for Merkel is 66. 
c) The modal rating for Obama is 61 and the first quartile for Merkel is 45. 
d) The mean rating for Obama is 73 and the interquartile range for Merkel is 21. 

 

Response 

a) b) c) d) 

 

 

PROBLEM 5.  (1 point)  The table below shows summarises the stunting prevalence indices for babies in 180 

countries from the WHO (World Health Organisation) database. 

Child Stunting Index Frequency 

(0-10] 16 

(10-20] 34 

(20-30] 47 

(30-40] 56 

(40-60) 27 

> 60 0 

 

Using this table, estimate the average stunting prevalence index: 

 

 

 

 

 



 

PROBLEM 6.  (3 points)  The following graph appeared in an article of the Wall Street Journal on US tax levels. 

 
Comment briefly on the adequacy of this graph.  

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  



 

PROBLEM 7. (2 points) The following is an extract from the American Community Survey questionnaire for 2015 

issued by the US Census Bureau. 

 

 

Classify the types of variables in Questions 12, 13, 14a, 17 in the following table. 

Question 
Variable type 

Qualitative Quantitative Continuous Discrete Nominal Ordinal 
12       

13       

14a       
17       

 


